
A14.2 (mod 13)

blocks defect matrix

G : 1 1 13× 12
2 0 131 = χ2,0, ϕ2,0

3 0 132 = χ2,1, ϕ2,1

4 0 781 = χ4,0, ϕ4,0

5 0 782 = χ4,1, ϕ4,1

6 0 2731 = χ5,0, ϕ5,1

7 0 2732 = χ5,1, ϕ5,0

8 0 2861 = χ6,0, ϕ6,0

9 0 2862 = χ6,1, ϕ6,1

10 0 4291 = χ7,0, ϕ7,0

11 0 4292 = χ7,1, ϕ7,1

12 0 6371 = χ9,0, ϕ9,1

13 0 6372 = χ9,1, ϕ9,0

14 0 7151 = χ10,0, ϕ10,1

15 0 7152 = χ10,1, ϕ10,0

16 0 10011 = χ11,0, ϕ11,1

17 0 10012 = χ11,1, ϕ11,0

18 0 10013 = χ12,0, ϕ12,0

19 0 10014 = χ12,1, ϕ12,1

20 0 12871 = χ13,0, ϕ13,0

21 0 12872 = χ13,1, ϕ13,1

22 0 13651 = χ14,0, ϕ14,0

23 0 13652 = χ14,1, ϕ14,1

24 0 17161 = χ15,0, ϕ16,1

25 0 17162 = χ15,1, ϕ16,0

26 0 20021 = χ16,0, ϕ17,0

27 0 20022 = χ16,1, ϕ17,1

28 0 43681 = χ18,0, ϕ19,0

29 0 43682 = χ18,1, ϕ19,1

30 0 45761 = χ19,0, ϕ20,0

31 0 45762 = χ19,1, ϕ20,1

32 0 57331 = χ23,0, ϕ22,1

33 0 57332 = χ23,1, ϕ22,0

34 0 60061 = χ24,0, ϕ23,0

35 0 60062 = χ24,1, ϕ23,1

36 0 60063 = χ25,0, ϕ24,0

37 0 60064 = χ25,1, ϕ24,1

38 0 60065 = χ26,0, ϕ25,0

39 0 60066 = χ26,1, ϕ25,1

40 0 64351 = χ27,0, ϕ26,1

blocks defect matrix

41 0 64352 = χ27,1, ϕ26,0

42 0 70071 = χ28,0, ϕ27,1

43 0 70072 = χ28,1, ϕ27,0

44 0 70073 = χ29,0, ϕ28,1

45 0 70074 = χ29,1, ϕ28,0

46 0 70075 = χ30,0, ϕ29,1

47 0 70076 = χ30,1, ϕ29,0

48 0 76441 = χ31,0, ϕ30,0

49 0 76442 = χ31,1, ϕ30,1

50 0 90091 = χ33,0, ϕ31,1

51 0 90092 = χ33,1, ϕ31,0

52 0 120121 = χ34,0, ϕ32,0

53 0 120122 = χ34,1, ϕ32,1

54 0 120123 = χ35,0, ϕ33,0

55 0 120124 = χ35,1, ϕ33,1

56 0 136501 = χ36,0, ϕ34,0

57 0 136502 = χ36,1, ϕ34,1

58 0 140141 = χ37,0, ϕ35,0

59 0 140142 = χ37,1, ϕ35,1

60 0 140143 = χ38,0, ϕ36,0

61 0 140144 = χ38,1, ϕ36,1

62 0 140145 = χ39,0, ϕ37,1

63 0 140146 = χ39,1, ϕ37,0

64 0 150151 = χ40,0, ϕ38,1

65 0 150152 = χ40,1, ϕ38,0

66 0 150153 = χ41,0, ϕ39,0

67 0 150154 = χ41,1, ϕ39,1

68 0 150155 = χ42,0, ϕ40,1

69 0 150156 = χ42,1, ϕ40,0

70 0 154441 = χ43,0, ϕ41,1

71 0 154442 = χ43,1, ϕ41,0

72 0 160161 = χ44,0, ϕ42,1

73 0 160162 = χ44,1, ϕ42,0

74 0 203841 = χ45,0, ϕ43,0

75 0 203842 = χ45,1, ϕ43,1

76 0 210211 = χ46,0, ϕ44,0

77 0 210212 = χ46,1, ϕ44,1

78 0 210213 = χ47,0, ϕ45,1

79 0 210214 = χ47,1, ϕ45,0

80 0 210215 = χ48,0, ϕ46,1



blocks defect matrix

81 0 210216 = χ48,1, ϕ46,0

82 0 214501 = χ49,0, ϕ47,1

83 0 214502 = χ49,1, ϕ47,0

84 0 214503 = χ50,0, ϕ48,0

85 0 214504 = χ50,1, ϕ48,1

86 0 232961 = χ51,0, ϕ49,0

87 0 232962 = χ51,1, ϕ49,1

88 0 249601 = χ52,0, ϕ50,1

89 0 249602 = χ52,1, ϕ50,0

90 0 270271 = χ53,0, ϕ51,1

91 0 270272 = χ53,1, ϕ51,0

92 0 270273 = χ54,0, ϕ52,1

93 0 270274 = χ54,1, ϕ52,0

94 0 280281 = χ55,0, ϕ53,1

95 0 280282 = χ55,1, ϕ53,0

96 0 286651 = χ56,0, ϕ54,0

97 0 286652 = χ56,1, ϕ54,1

98 0 350351 = χ61,0, ϕ59,0

99 0 350352 = χ61,1, ϕ59,1

100 0 350353 = χ62,0, ϕ60,0

101 0 350354 = χ62,1, ϕ60,1

102 0 366081 = χ63,0, ϕ61,0

blocks defect matrix

103 0 366082 = χ63,1, ϕ61,1

104 0 420421 = χ64,0, ϕ62,1

105 0 420422 = χ64,1, ϕ62,0

106 0 420423 = χ65,0, ϕ63,1

107 0 420424 = χ65,1, ϕ63,0

108 0 477751 = χ66,0, ϕ64,0

109 0 477752 = χ66,1, ϕ64,1

110 0 480481 = χ67,0, ϕ65,0

111 0 480482 = χ67,1, ϕ65,1

112 0 480483 = χ68,0, ϕ66,1

113 0 480484 = χ68,1, ϕ66,0

114 0 500501 = χ69,0, ϕ67,0

115 0 500502 = χ69,1, ϕ67,1

116 0 599041 = χ57+, ϕ55+

117 0 630631 = χ70,0, ϕ68,0

118 0 630632 = χ70,1, ϕ68,1

119 0 640641 = χ71,0, ϕ69,0

120 0 640642 = χ71,1, ϕ69,1

121 0 686401 = χ59+, ϕ57+

122 0 694981 = χ72,0, ϕ70,1

123 0 694982 = χ72,1, ϕ70,0

Block 1: ϕ1,0 ϕ1,1 ϕ3,0 ϕ3,1 ϕ8,0 ϕ8,1 ϕ15,0 ϕ15,1 ϕ18,0 ϕ18,1 ϕ21,0 ϕ21,1

11 = χ1,0 1 . . . . . . . . . . .
12 = χ1,1 . 1 . . . . . . . . . .
771 = χ3,0 1 . 1 . . . . . . . . .
772 = χ3,1 . 1 . 1 . . . . . . . .

5601 = χ8,0 . . 1 . 1 . . . . . . .
5602 = χ8,1 . . . 1 . 1 . . . . . .

20791 = χ17,0 . . . . 1 . 1 . . . . .
20792 = χ17,1 . . . . . 1 . 1 . . . .
49281 = χ22,0 . . . . . . 1 . 1 . . .
49282 = χ22,1 . . . . . . . 1 . 1 . .
80851 = χ32,0 . . . . . . . . 1 . . 1
80852 = χ32,1 . . . . . . . . . 1 1 .
95041 = χ20+ . . . . . . . . . . 1 1



ϕ1,0 = 11
ϕ1,1 = 12
ϕ3,0 = 761
ϕ3,1 = 762
ϕ8,0 = 4841
ϕ8,1 = 4842

ϕ15,0 = 15951
ϕ15,1 = 15952
ϕ18,0 = 33331
ϕ18,1 = 33332
ϕ21,0 = 47521
ϕ21,1 = 47522


